
Mounting Instructions

1. Remove Front Cover from Mirror and Turn Signal by Pulling Forward on Cover.
2. Turn Cover Upside Down and Tape or Clamp Template in Place as in Photo #1.
3. a) Center Punch Lightly in Center of Holes to be Drilled.
    b) Remove Template.
4. Drill 2- 7/32 holes in Each Mirror Housing.
5. a) Install 10-24 x 5/8 Screws in Holes and Add Black Washers
    b) Install Arm Bracket, Black Washers, and Cap Nuts. (See photo #2)
6. a)Place Mirror and Turn Signal Cover with Hand Wing Attached Back in Place.
    b) Place One Hand on Driver Side of Mirror and Push Cover Firmly into Place
          With Other Hand Until it Snaps into Place. ( See photo #3)

F3 T/Limited Hand Wings

#1 #2

#3

Bottom of Mirror Cover with Template Attached

Inside Rear View of Mirror Cover with Hand Wings Installed

BAKER BUILT™ AIR WINGS™, INC.
11877 Walnut Grove Church Rd., Ohio City, Ohio 45874

Phone: 1-800-451-WING(9464) or (419) 965-2646 FAX: (419) 965-2646
                                           www.bakerbuilt.com e-mail: info@bakerbuilt.com

Template

Finished Installed Hand Wing



   1. DO NOT make adjustments while riding cycle.
   2. FAILURE TO OBSERVE THE ABOVE
       COULD CAUSE A SERIOUS ACCIDENT

2- deflectors
2- arm brackets ( 4” long with 3 holes)
2- L Brackets
4- black plastic screws
16- small black washers
8- 10-24 cap nuts
2- ¼ -20 x ¾ black hex head cap screws
2- ¼ -20 hex nuts black
2- ¼” steel flat washers
2- white acetel washers
2- white curved washers
2- ¼ -20 black cap nuts
4- 10-24 x 5/8 pan hd. screws

Parts List

Check ALL screws daily for tightness.
Adjust to AIR WINGS ™ from the center, not from the top or bottom of the plexiglass.
CAUTION: Fumes from gasoline, paint or other chemicals stored around the cycle can cause the plexiglass
to crack
Deteriorate. Do not use cleaners containing ammonia to clean the plexiglass. DO NOT use Locite or similar
products on
Screws. Loctite or Brake and Clutch Fluid leaks will immediately ruin the plexiglass.

ONE YEAR LIMITED WARRANTY- BAKER BUILT ™ AIR WINGS ™ Air deflectors are
guaranteed against
Defects in material and workmanship for one (1) year from date of purchase. At our discretion and subject to
inspection,
BAKER BUILT ™ AIR WINGS ™ , INC. Along with dated sales receipt.

Warranty is limited to replacement of AIR WINGS ™ air deflectors or parts therefor and does not
cover any

Consequential damage that may have occurred to cycle or fairing.
Damage to AIR WINGS ™ air deflectors resulting from accidents, misapplication, or abuse is not covered by

NOTE: CAP NUTS TENSION MUST BE CHECKED- The Product is designed so the Cap Nuts screw on tight to
Keep the proper tension on the AIR WINGS ™. The Cap Nuts must be kept tight enough to prevent the AIR WINGS ™
From turning in the wind, but not so tight as to prevent the AIR WINGS ™ are opened or closed. Check the Cap Nuts
Periodically to be sure they have not loosened up or BECOME TOO TIGHT.

If Cap Nuts tend to loosen up, remove the Cap Nuts and take a pair of wire cutters and squeeze between the threads of the
Welded bolt. Use caution as a little squeeze of the pliers goes a long way in making the Cap Nuts turn harder.

WARNING!


